14,5 , o
9. Let X [millimeters] be the thickness of washers. P —
Assume that X has the density f(x) = kx if X é[-"0° 00] - b( A(
0.9 < x << 1.1 and 0 otherwise. Find k. What is the o)
probability that a washer will have thickness between -F(
0.95 mm and 1.05 mm?
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10. If the diameter X of axles has the density f(x) = k if 0o
1199 =x =120.1 and 0 otherwise, how many ’ ’ - P
defectives will a lot of 500 axles approximately contain X f ["0’ (V%) - 7‘(’()6‘(
/ -
if defectives are axles slimmer than 119.91 or thicker
than 120.09? T |

f[x)

1 =A= K (e =114 9)
——1- ' =k 0.2

Naq X el /
= - —_-

= P(x 6[!14‘1// (1. 217)

= S(Ilﬂ.o'l —laq)=l—=5@.13)=]| -9

= 9,

500 (o, =
4. =2

MEAN, VARIANCE

Find the mean and variance of the random vanable X with 7
probability function or density f(x). l> ( 1 2 2
1. f(x) = kx(0 = x = 2, k suitable) \ — 0( \ X K 1
Kx dx =
o

2. X = Number a fair die tums up

3. Uniform distribution on [0, 277]

4. Y= V3(X — p)/7 with X as in Prob. 3
5. f(0)=4de ¥ (x=0)

6. f(x) = k(1 — x%)if —1 = x = 1 and 0 otherwise
7. f(x) = Ce ™2 (x = 0) | = Z K - ’
8. X = Number u/" times a fair coin is flipped until the “> K & —_—
first Head appears. (Calculate p only.) Z
)lllldxl\[ll thlhlhd sity
/() k(x —()9)(11—)1 r 0.9 < x< 1.1 and 0 c=e 7
for other x, what are &, . and ¢ Skllt()
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